M4A34 Assessed Homework 1 Spring Term 2009 Darryl Holm
Due at beginning of class one week from today
1. Heavy top motion: Approach A

The motion of a heavy top is determined from Euler’s equations in vector
form,

IN+QxIQ = —mgx xT, (1)
r+Qxr = o, (2)

where Q, T, x € R? are vectors in the rotating body frame, I is a real
positive symmetric matrix and mgx = const.

The angular velocity vector €2 is related to the rotation rate by Q=RIR
and T' = R™!Z is the vertical axis as seen from the rotating body.

[a] Derive the Euler-Poincaré and Euler-Lagrange motion equations for a
variational principle §.5 = 0, where

b
S = /L(Q,I‘,I")dt
a

b 1 1 . 2
= /a (QHQ‘Q—mQX‘I‘—i-WH‘—i-QXI‘} )dt (3)

with penalty o2, a positive constant.

[b] Legendre transform and write the resulting equations in canonical Hamil-
tonian form.

[c] Verify that these canonical equations recover the heavy top motion
equation (1). What identity is used in the key step in this verification?

[d] Is the I'-equation also recovered from this variational principle?

Solution 1:

[a] Taking the variational derivative of the action integral S in (3) yields

b
55:/ (m-m—mgx-ar+A-(5f+59xr+nx5r))dt




where the momentum A canonically conjugate to I is found to be
oL

A= —

or

Rearranging and integrating by parts in 45 yields

5S = /b((HQ+I‘xA)-6Q
b

— (A—i—ﬂxA—l—mgx) ‘6I‘>dt+ [A-dI‘] .

1 .
zﬁ(I‘qLQxI‘).

Thus, stationarity 6S = 0 implies
60 : IN+T'xA=0,
or : AA=T+QxT,
or : A+QxA+mgx=0.

Substituting the last two stationarity conditions into the time
derivative of the first one easily leads to the motion equation (1)
for the heavy top. However, the I'-equation (2) is only recovered
in the limit 02 — 0.

[b] Legendre transforming leads to the Hamiltonian,
H(I'A) = I'-A—-L(Q,T,T)
1 1 0—2 2
= 5(1“><A)-H (1‘><A)+7]A| +mgx - T.

This Hamiltonian is the kinetic plus potential energy for the heavy
top. Hamilton’s canonical equations of motion now are

. OH

r:?m = —I'xI ' T'xA)+0°A=-QxT+0%A,
. H

A:—gr = —AxI N T xA)—mgx=—-QxA—mgx,

where we have used Q = —17 5T x A).

[c] Combining these canonical equations with the time derivative of
I = —T x A yields the heavy top equation of motion (1), upon
using the Jacobi identity for the triple vector product in R3.

The Jacobi identity is thus the key identity for deriving the equa-
tions of motion.




[d] The I'-equation is only recovered in the limit o — 0.

The limit ¢ — 0 requires exact verification of the I'-equation,
rather than merely a penalty for not satisfying it. The latter may
be achieved by introducing it as a constraint, enforced by a La-
grange multiplier,

b 1 .
S = /<2]IQ-Q—mgx-I‘+A-(I‘+QxI‘)>dt

This is the action functional for the heavy top in the Clebsch
approach that was discussed in class.

2. Heavy top motion: Approach B

The Kaluza-Klein Lagrangian for the heavy top is the map
Lk :TQrrx ~TSO(3) x TR® — R,

defined by extending the tangent space T'SO(3) of the rigid body to include
new auxiliary variables q, ¢ € TR? in the sum of squares

. o . 1 1 .

The skew-symmetric matrix variable © = R™'R € s0(3) and the unit vector
I' = R7'2 € S? are defined as usual. The roles of the variables (q,¢) €
TR3 are to be determined. To begin this interpretation, note that q € R3
is an ignorable vector coordinate in the reduced Lagrangian lxg; so its
canonically conjugate momentum p € R3* ~ R3 is a constant of the motion.

[a] Derive the coupled Euler-Poincaré and Euler-Lagrange motion equations

from the variational principle §S = 0, using the reduced Lagrangian
Ik K, i.e., using the action

b
5= / ek (T, ) dt

Explain how to obtain the I'-equation in this case.



[b] Perform the Legendre transformation of lxx in (4) to obtain its mo-
mentum variables. Explain why the momentum p conjugate to the
coordinate q is conserved, then identify it with the other constant
vector in the heavy top formulation and thereby derive the correct
motion equation for the heavy top.

[c] Continue the Legendre transformation of [k in (4) to obtain its Hamil-
tonian Hxx and the corresponding Hamiltonian equations.

[d] Evaluate Hg i on a level set of the constant p and rewrite the Euler-
Poincaré equations in Lie-Poisson Hamiltonian form.

[e] Show that the Hamiltonian equations for h = Hg g (II,T',q,p) split
apart into a direct product of the heavy top equations in Lie-Poisson
form, times a canonical Hamiltonian system. Write the Poisson bracket
for the entire system.

Solution:

[a] According to its definition, the unit vector I' = R™'2 € S? satisfies
the auxiliary equation,
'=-QxT,

upon taking the time derivative and using the hat map. So the I'-
equation is part of the problem formulation in this case.

Variations in 2 and I yields the Euler-Poincaré motion equation, while
variations in q and q yield the Euler-Lagrange equation.

[b] The Legendre transformation for Ik in (4) gives the momenta
1 =10 and p=T+4q. (5)

Since I i does not depend on q, its Euler-Lagrange equation

dOlgk _ Olgk _ 0

dt 0q¢  o0q '
shows that p = Olgxx/0q is conserved. It’s natural to identify the
constant vector p in the body with the other constant vector in the
problem,

p=I+4qg=—-mgx.




After this identification, the Fuler-Poincaré motion equation for the
Kaluza-Klein Lagrangian easily returns Euler’s motion equation for the
heavy top (1).

[c] The Hamiltonian Hx associated to lxx by the Legendre transfor-
mation (5) is

1 1
= -II-T"''II—p-T+ =|p|?
5 p-I'+3p|

1 1 1
= ZII-T7'II+=|p-TP - =|T)%.
2 +2!p \ 2| |

The Hamiltonian equations for the canonical variables are

) 0H

q = aKsz—F,
P

. aHKK__O

p = oqg

Therefore, as expected, p is a constant of the augmented motion and,
consequently, the canonically conjugate g-equation decouples from the
rest.

[d] Recall that T is a unit vector. On the constant level set |T'|> = 1,
the Kaluza-Klein Hamiltonian Hg g is a positive quadratic function,
shifted by a constant. Moreover, on the constant level set p = —mg X,
the Kaluza-Klein Hamiltonian Hg is a function h(IL,T') of only the
variables (IL,T") and is equal to the sum of the kinetic plus potential
energy for the heavy top, plus a harmless constant,

2

)

1 1
h(IL T') 3:HKK(H7F7P)‘ = -II-I"'I+mgx-T+=|mgx
p=—mgx 2 2

in terms of whose derivatives one may rewrite the Euler-Poincaré equa-
tions in Lie-Poisson Hamiltonian form, as

ER oy 1P | G

As a result, the Hamiltonian equations for h = Hg i (II,T',q,p) split
apart into a direct product of the heavy top equations in Lie-Poisson




form, times a canonical Hamiltonian system consisting of a conserved
momentum and the linear evolution of its conjugate coordinate.

II IIx I'x 0 0 Q

| _[Tx 0 0 0 —p )
4 0 0 0 Id 0o |-

P 0 0 —Id of|p-T

Equations (7) exactly recover the heavy top equations (1) and (2) upon
evaluating
P = —mgx.

[e] Hence, we have the following.

The Lie-Poisson equations for the Kaluza-Klein Hamiltonian
Hy i recover Euler’s equations for the heavy top (1) and (2).
The Lie-Poisson bracket may be written in matrix form as

T

of /o) " [ix Tx 0 07 [0h/om
_lagor| |tx o o o] |enser

Urk=1af0ql |0 o o 14| |onjoq| ©
of /Op 0 0 —Id 0 Oh/Op




M4A34 Assessed Homework 2 Spring Term 2010 Darryl Holm
Due at beginning of class one week from today
1. Generalised rigid body

Review
Recall the following definitions for the left action of a Lie group G on the
cotangent bundle T*Q of a manifold Q:

e The diamond operation ¢ : T*Q) — g* is defined by

oq, = ) —£ > )
<p q £> <p ¢d),,
with pairings (-, -) : g* x g —Rand (-, -);, : TV* x TV — R.
e The cotangent-lift momentum map for this action is given by
J=—poq:T"'Q — g¢*

for canonical variables (g, p) € T*Q satisfying {q,p} = Id.

Let the Hamiltonian H g, for a generalised rigid body (grb) be defined as the
pairing of the cotangent-lift momentum map J with its dual J# = K—1J € g,

1 1 _
Hgyp = §<p<>q, (p<>q)'i> = §<p<>q, K 1(p<>q)>,

for an appropriate inner product (-, -) : g* x g — R obtained, e.g., from the
Killing form K on g (which is symmetric and nondegenerate).

Problem statement
[a] Compute the canonical equations for the Hamiltonian H .
[b] Use these equations to compute the evolution equation for J = —poq.

[c] Identify the resulting equation and give a plausible argument why this
was to be expected, by writing out its associated Hamilton’s principle
and Fuler-Poincaré equations.

[d] Write the dynamical equations for ¢,p and J on R? and explain why
the name generalised rigid body might be appropriate.



Solution:

[a] By rearranging the Hamiltonian, we find

1 1 .
ngb = §<p7 —£(p<>q)uQ>V = §< - £(p<>q)1ip’ Q>V .
Consequently, the canonical equations for this Hamiltonian are
) OH gy
q = 5;T = _£(p<>q)ﬂq> (9)
. OH b T
P= Ty e (10

[b] These equations allow us to compute the evolution equation for the
left cotangent-lift momentum map J = —p < q as

<J'7 §> = <— pog—poq, €>
= <£§p<>q —podag, £>, where v=—(poq)' = J*
- —<£§p, £5q> v <p, £5£7q>
= <p, _£(ad7§)Q> = <p<>q, ad7€>
- <ad;(p<>q) : 5> - <adf,ﬁj, §>, for any € € g.
Thus, we find that the equation of motion for a generalised rigid

body is the same as the Euler-Poincaré equation for a left-invariant
Lagrangian, namely,

J=ads,J. (11)

[c] Equation (11) also results from Hamilton’s principle 65 = 0 given
by

S(&pq) = / (l(§)+ (P, q- £§Q>>dt
for the Clebsch-constrained reduced Lagrangian defined in terms
of variables (§;p, q) € g x T*Q when we identify 6l/5 = J.

(For the right action of G on T*Q we would have written the
Clebsch constraint term as (p, ¢ + £¢q).)




[d] On R? the EP equation (11) for grb becomes
J=—TJtx T,

which recovers the rigid body when J is the body angular momen-
tum and J* = K~1J is the body angular velocity.

The corresponding canonical Hamiltonian equations (9) and (10)
for ¢,p € R3 are

q:—Jﬁxq and p=—J" xp.

These equations describe rigid rotations of vectors ¢,p € R? at
angular velocity J*.

2. Momentum map for cotangent lifts

Review

The formula determining the momentum map for the cotangent-lifted action
of a Lie group G on a smooth manifold ) may be expressed in terms of the
pairings (-, -):g* xg—Rand ((-, ) : T*Q x TQ — R as

(J, &) =(p, £eq)),

where (q,p) € T;Q and £¢q is the infinitesimal generator of the action of
the Lie algebra element £ on the coordinate q.

Problem statement:

Define appropriate pairings and determine the momentum maps explic-
itly for the following actions, then compute their symmetric double-bracket
canonical equations.

[a] £eg =& x g for R3 x R3 — R?

[b] £eq = adeq for ad-action ad : g x g — g in a Lie algebra g

[c] AgA™! for A € GL(3, R) acting on ¢ € GL(3, R) by matrix conjugation
[d] Agq for left action of A € SO(3) on ¢ € SO(3)

[e] AgAT for A € GL(3, R) acting on q € Sym(3), that is ¢ = ¢.



[f] UQUT for a unitary matrix U € U(n) satisfying UT = U~! acting on
Hermitian Q € H(n) satisfying Q = QF.

le] £eb =& &) = (0p€)(940) — (0€)(0p)
for the canonical Poisson bracket {-, -} : F* x F — F.

Solution:

[a] £eq =& x g for R3 x R3 — R3 under spatial rotations

The definition of cotangent-lift momentum map yields

(J,6) = (p,&xq)=p-Exq=—pxq-§

Hence, one has J = —p x ¢ = ¢ x p € 50(3)* ~ R3 for this action.

The Hamiltonian for geodesic motion on SO(3) with respect to
the metric given by the pairing I : s0(3) — s0(3)* is

1 1
H=3J- 1 = 5(a%p) 17 (g x p),

with canonical Poisson bracket { ¢, p} = 1, which yields canonical
equations in symmetric double-bracket form,

i = {q,H}z‘?;:—qxﬂ*(qxp),
. oH _
p o= {p,H}Z—qu—pxﬂ Y(q x p).

By the Jacobi identity for the cross product, these canonical equa-
tions yield
J=JxT'J

in the form

d

214X p) = (axp)x (H_l(q x p))

These equations provide the symmetric phase-space formulation
of spatial rotations of a rigid body.

10



[b] £¢q = adeq for ad : g x g — g in a Lie algebra g.

The definition of cotangent-lift momentum map yields

<']> €> = <p7 adEQ> = <a'd;p7 £>
Hence, one has
J=—adpeg
for this action.

The Hamiltonian for geodesic motion on the Lie group G with
respect to the metric defined as the pairing of the cotangent-lift
momentum map J with its dual J# = K~1.J € g is given by,

Hg = %<ad2p, (ad;p)ﬁ> = %(adl’;p, K_l(ade)) ,

for an appropriate inner product (-, -) : g* x g — R obtained, e.g.,
from the Killing form K on g (which is symmetric and nondegen-
erate).

The canonical Poisson bracket { ¢, p} = 1 yields canonical equa-
tions for the Hamiltonian Hg in symmetric double-bracket form,

, SH .
g = {¢,H}= o ad’y q, (12)
_ SH

p = {pH}=- T ad’y p. (13)

After a short calculation using the Jacobi identity for the ad-
operation in g, these canonical equations yield

809G o

in the form

d, .. X *
%(adqp) = adK,l(ade)adqp. (15)

These equations provide the symmetric phase-space formulation
of the motions of a generalised rigid body.

[c] AgA~! for A € GL(3, R) acting on ¢ € GL(3, R) by matrix conju-
gation.

11




In this case, one computes the ad-action for GL(3, R) conjugation
as

Te(AqA_l) = gq - qg = [é.a Q] )

for &€ = A'(0) € gl(3, R) acting on ¢ € GL(3,R) by matrix Lie
bracket [-, -].

Consequently, one finds the momentum map by using the matrix
trace-pairing, ( A, B) = tr(AT B),

(p,adeq) =tr(p"[¢,q)) = tr((qu — qu)Ti)
Thus,
7]

J=p¢" —¢"p=[p.¢"| =—adgp=—adp,

where [-, -] is the matrix commutator, so that J” = [¢,p’] ex-
changes ¢ < p in J. (Page 175 of the book)

Then for a symmetric matrix K !, we have
1 B\ _ Lo
H:§<J, J > = Str(J KL,

whose canonical Hamiltonian equations are, cf. (12) and (13)

. 5H —_ *

i =5 =—[¢", K7'J] = ad?, q,

. o0H _ _ "
p= _Tq:_[pT,K V) == (KT, p] =t ad p,

in which the last step uses a relation for the transpose of the matrix
commutator [ AT, B] = —[ A, BT|T and antisymmetry J7 = —J.
Hence, cf. (15)

J=adj, J=— [(K—lJ)T, J} (16)

[d] Agq for left action of A € SO(3) on ¢ € SO(3)

Compute T.(Aq) = £q for £ = A’(0) € so(3) acting on g € SO(3)
by left matrix multiplication. For the matrix pairing (A, B) =

12




trace(AT B), one finds the following expression for the momentum
map,

1
trace(p’ {q) = trace((pg’)"¢) = J= §(qu —qp")=-J",

upon using antisymmetry of the matrix £ € so(3).

Then for a symmetric matrix K !, we have
1 1 1
H= 5<J, Jﬂ> = St(JTK L) = = St(JK ),

whose canonical Hamiltonian equations are, cf. (12) and (13)

o0H

¢ = —=-q¢ (K 'J+JK
op
o0H

P = —Tq:—PT(K_lj‘i‘JK_l)

Compute equation for (¢, p,J)

[e] AgAT for A € GL(3, R) acting on ¢ € Sym(3); that is, ¢ = ¢*.

Compute

Te(AgAT) =g+ € = €q+ (€9)",
for &€ = A'(0) € ¢l(3, R) acting on ¢ € Sym(3). For the matrix
pairing ( A, B) = tr(A” B), one finds

tr(p” (ég+ q€™)) = tr((ap” + ¢'p)&) = J =pg" +pTq=J",

Compute equation for (¢, p, J)

[f] UQUT for a unitary matrix U € U(n) satisfying UT = U~! acting
on Hermitian Q € H(n) satisfying Q = QF.
The canonically conjugate elements of 7*Q are pairs (Q, P) of
Hermitian matrices. The corresponding Poisson bracket is

OFO0H O0H 8F>

13




The action of the group U(n) on T*Q is given by
(Q,P)— (UQUt,UPUYY, UU'=1Id.

The linearisation of this group action with U = exp(t£), with skew-
Hermitian ¢ = — ¢ yields the vector field with (Q, P) components,

Xe = (16 QL[ P))
This is the Hamiltonian vector field for
Je = tr ([Q, PJ¢),

thus yielding the momentum map J(Q, P) = [Q, P].

Compute equations of motion for for (Q, P,J ) for the Hamil-
tonian

H(Q,P) = %tr ([Q,P]TK—l[Q,P]) - %tr (I

with J# := K~1J. Hence, we find

¢ = Z=-1ral,

e el

jo= S1Q.Pl=-[F.1Q.7]
= —[JJ = [?fﬂ

As a result, we have for any smooth function F'(J),

4 p() = —tr<J[g§7 aaﬂ) A

8] £eo = {& 0} = (0p€)(0q0) — (046)(0p¢) for canonical Poisson
bracket {-, -} : F* x F — F.

14




The definition of cotangent-lift momentum map yields

(. &) = (r, Led) = / w{€, d}dqdp = / ¢{6.7)dqdp

Hence, one has J = {m, ¢} for this action.

Writing f = {m, ¢} in the Hamiltonian for geodesic Vlasov motion

1

H = [ 1K fdadp =5 [ {r.0} K + (. )dadp

with canonical Poisson bracket { -, -} : F* x F — F yields canon-
ical equations in symmetric double-bracket form,

. o0H
o = = ={o Kx{ro}},
) oH
By the general theory, these canonical equations recover
0H
of= {f, W}

in the form

om0} = {{m. 0}, K + {m, ¢}

These equations would appear in the symmetric phase-space for-
mulation of optimal control of geodesic Vlasov motion.

3. Nambu representation of Euler’s rigid-body equations

Review of the Nambu bracket
A Hamiltonian vector field Xy defined on phase-plane coordinates (p,q) =
(w1, 22) € R? satisfies

Xy JAd’z = —dH

15



where H : R?> — R. The corresponding Poisson bracket may be be given
a 3D vector representation in Cartesian coordinates (z1,z2,23) € R® by
writing it as
0H 0 0H 0
Xy={ H},=———————-—=Va3xVH -V,
H { }x 8372 8%1 8331 8x2 3
in which Vz3 = (0,0,1) is the unit vector normal to the R? plane.
Consequently, a phase-plane function F : R? — R satisfies

F=XyF={F ,H},=VF Va3 xVH = {F,z3,H},,

in which the last expression defines the Nambu bracket for the ordered
triple (F,x3, H).

The level set of x3 is not special, so a Nambu bracket may be defined for
the ordered triple (F, S, H) with any smooth function S : R? — R as

{F,S,H},dry Ndxo Ndxs :=VF -VS x VHdx) Ndxy ANdrs =dF NdS NdH .
A Nambu vector field Xgy = {-, S, H}, on R3 satisfies

Xsg Ad*x = —dH N dS
for functions S, H : R® — R. Thus, the Nambu bracket {F, S, H} reduces

to the canonical Poisson bracket at any nonsingular point on a level surface
of S. (This holds for S = x3 = constant, of course, and is guaranteed by
Darboux’s theorem for any regular surface S = constant.)

Euler’s equations for rigid-body motion in principal-axis body angular mo-
mentum coordinates x € R? consist of

X = iV\x[Z x V(x-T'x),

with diagonal momentum of inertia tensor I = diag([y, I2, I3).

These are expressed in Nambu form by identifying S = %|x\2 and H =
%x -I7'x. Consequently, the motion in body coordinates x occurs along
intersections of level sets of the conserved angular momentum S and the
kinetic energy H.

Problem statement:

[a] Verify from its definition that the Nambu bracket is trilinear, has even
(odd) parity under corresponding permutations of its three entries, sat-
isfies the Jacobi identity, and is invariant under the volume-preserving
transformations of R3.

16



[b] Show that volume-preserving transformations are the analogs for the
Nambu bracket of canonical transformations of the symplectic Poisson
bracket by specialising the last property in Part [a] to S = x3.

[c] Show that Euler’s rigid-body equations transform into
. 1
X = ZV(Xl2 - X2) x V(X? - X3)
upon defining
X; :=u;/v; (nosum), where ~; =—-1/I;+1/I,

with cyclic permutation in ¢, j,k = 1,2, 3. In performing this calcula-
tion, check that their definitions imply that the three ~’s satisfy the
relation

¥ +93+95 =0

and impose 717273 = 1 on their product so that volume is preserved.
Hint: The easy way to do this is to use the wedge product and its
properties.

[d] Discuss the geometric meaning of this representation of rigid-body mo-
tion and sketch its solution trajectories for X € R3. Explicitly write
the transformed Euler equations in components of X = (X7, X9, X3)
and check that the divergence of the resulting vector field X vanishes.

e] Reduce the motion to a level surface of S = (X2 —X2). Write the equa-
2 (A1 2
tions of motion explicitly and show that they are canonically Hamil-
tonian.

Solution:

[a] For example, the last property in [c] follows for the smooth trans-
formations (z1,r2,23) — (X1, X2, X3) € R3 as

{F,S,H},dx; Ndxa Ndxs =dF NdS NdH
:{F,S,H}XXm/\dXQ/\ng,

so that
{F,S,H}x:{F,S,H}X,

when dX1 A dXo AdXg = dxi N dxs A dzs.

17



[b] The specialisation to S = x3 in the last of the properties in Part [c]
immediately recovers the area-preserving (symplectic) transforma-
tions of the plane.

[c] Direct calculation.

[d] The solution trajectories for rigid-body motion in X € R3 follow
along intersections of two families of hyperbolic cylinders whose
axes of translation symmetry are orthogoanal to each other. The
Euler equations in components of X = (X, Xy, X3) are X, =
X5 X3 and cyclic permutations.

[e] Direct calculation.

18




4. Trilinear bracket representation of the heavy top equations

A certain trilinear bracket for any three smooth functions F, S, H : R® — R
defines a dynamical system for (x,y) € R® as

F = {F,S,H}
OF 9S OH 39S O0H OF  9H OF aS

oy ax X ox "oy ox “ox T oy ox Sox 17

Let the dynamics of a given system be determined from x = {x,S, H} and
v={y.S H}

Problem statement:

[a] Write the dynamical equations of the variables x(¢) and y(t) generated
by the trilinear bracket (17) for arbitrary smooth functions S and H.

[b] Show that this dynamics conserves the functions S and H, so that
the motion in R® takes place on the intersections of level sets of S
and H. What is the dimensionality of these intersections? Is the
dimensionality an even integer?

[c] Assume that S = x-y and H = %X -I7!'x + a -y for constant vector
a € R? and constant symmetric positive invertible 3 x 3 matrix I.
Reduce the problem to an equivalent rigid body problem when initial
conditions are chosen such that S = 0.

[d] Explain what the reduced motion on S = 0 in part [c] means physically.

[e] From its definition that the bracket (17) is trilinear. Show that it has
even (odd) parity under corresponding permutations of its three entries
and satisfies the Jacobi identity.

[f] What is the interpretation of the trilinear bracket (17) when S =x-y?

Solution:

[a] The dynamical equations of the variables x(t) and y(t) are

) aS OH O0H 0§
X = {X,S,H}—@Xaix—@X&,

oS O0H

y = {y’S,H}:(?iXXaiX
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[b] When F' = S or F = H, the trilinear bracket (17) vanishes by
antisymmetry of cross product of vectors in R®. The dimensional-
ity of the intersections of level sets of these quantities is 5+5-6=4,
which is even and thus is a candidate for a symplectic Hamiltonian
formulation.

[c] The preserved condition S = x -y = 0 implies that the relation
y = b x x is preserved for a constant vector b € R3. Hence,
H= %x -I"'x + a -y becomes

1
H = 5x-]171x+x- (axDb).
Substitution of this reduced Hamiltonian into the trilinear bracket
(17) results in

%x = xx(['x+axb),

vy = bxx.

[d] The 1st equation (for x) may be identified as eccentrically rotating
rigid body motion. The second equation (for y) decouples; so it
may be solved separately.

When b = 0, the heavy top is supported at its center of mass and
its motion reduces to ordinary rigid body motion.

[e] The various properties of the trilinear bracket (17) may be verified
directly.

[f] When S = x -y, the trilinear bracket (17) reduces to the Lie-Poisson
bracket on se(3)*. Its various properties follow in that case by
being linearly dual to the defining properties of a Lie algebra. The
quantity S = x -y is the Casimir for the Lie-Poisson bracket on
se(3)*.

20




